
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

MF 8600 Front Hook30-130311

MF 7000 Series Hook Side Brace LH30-1709L12

MF 7000 Series Hook Side Brace RH30-1709R13

300gal Elliptical Saddle, Black20-1012E14

300gal Saddle, Black20-101115

400gal Saddle, Black20-101316

300gal Round Tank, WhiteWHD30017

400gal Round Tank, WhiteWHD40018

300gal Elliptical Tank, WhiteWHD300E19

1

1

2

2

A A

B B

Massey Ferguson 

Bolt List

QTY Description

Placement

4 20mm x 60mm Bolt Side brace to Tractor

8

3/4" x 2-1/2" Bolt

Tractor Brackets to Saddle

2

3/4" x 3-1/2" Bolt

Tractor Side Brace to Hook

4 20mm Flat Washer

10

3/4" Lock Washer

10

3/4" Hex Nut

2

Nylon Straps

Tank to Saddle

7 or 8 or 9

4 or 5 or 6

1

2

3

12/2023

*TRACTOR FRONT WEIGHT BRACKET NEEDED*

Front Mount

7714, 7715, 7716, 7718, 
7720, 7722, 7724, 7726, 

7715S, 7716S, 7718S, 7720S, 
7722S, 7724S, 7726S,

7S.155, 7S.165, 7S.180, 
7S.190, 7S.210

300 ID: AMC-MF7700-15CU-FM-300R
300E ID: AMC-MF7700-15CU-FM-300E
400 ID: AMC-MF7700-15CU-FM-400R

Limitations may apply. Please
consult API Sales at 800-288-1117

            Price List
300 gal w/Tank $2245.00
300 gal Elliptical w/Tank $2554.00
400 gal w/Tank $2594.00




